<o @> (rad)

< 00, > (M)

RatioI

<opp >0

o
N
X
=
o
&
(=
N
X
=
o
&

o
[EnN
(¢)]

< o cot(y) >
o
[N
[¢)]

S I o I R I T e A 1 B Y T et e A O

o
[y
o
Py

_0.2;| N ! | IR ! b1 h | b b ! db b ! A 9_02:
R R | 5 I R o5 EER B B i O PR o | 1 S | R
1:—- ------- o F
osb W ENLUTEL T4 5 0.5 - {FHHe == - f P - - ff: - T
05 . : ] : 0: : Il . :
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewTEST1000time__RECO
100r " " " " " — 100p H " "
F . . : : : g_ o : : :
80 I ] g = 80 :
L " : : A L " : "
60E- 11| 1 {11{H ettt S' 60F : ittt
I ] . : o I . : !
40111 ; LT3 v 40gy ; i i
20F- {1ttt i 20F il
= . : o T 1l H
OF 1 {HH i J oF g : LTI
_20:_ : ! _20:!1 ‘ N |4
~40F{{{Hf 1 -40F A
o ! o 4
-60F ~60F :
-80F -80F :
1095....!...!....!...!....!.... _9—1005""'""""'!"""""'"
S N S T e e e -
i L PRI R e | IR 11 A I
05 ] H: : K j 0: 1 TR IN : i
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA- to beamline) TP n (PCA to beamline)

5p : :
aF ;
3
25— 4 {151 :,’ _.
1;— i A I3
oF I L
E : ' | |98 ||atF
- {01 HTERT
-22— Ta-HHTE e
_4;_ ]
_sfa | | Ll | |

S H BN AN
3 2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


